[ ol e 42 Aelg= Ao e,

9500 — ( ) — ( ) = 9800 — 9900 — (




1000 ©] 40 o] [ Jolat Ut




Es

e

A

ot

SAQ,

rlo

[ et gw

10000 ©] 1, 1000 ©] 9, 10 ©] 3 o]=H
[ Jelzhx gsyrh

> S
=%



[ Jetel e S22 0 g AL oln AU
90008 & %
9900+ &

100002
9990R [ |& &
9999R [ &
@ 1000.10.100.1 @ 10000.1000.100.1
® 1.10.100.1000 @ 1000, 100, 10,1

® 10000, 1000, 100, 10




9900 H.th
9990 Ht}

©
—

(1) 10000
(2) 10000

S
—

@ (1) 1000 (2) 10

@ (1) 100 (2) 10

@ (1) 2000 (2) 100

@ (1) 100 (2) 100

® (1) 1000 (2) 100



6.




£ nho] QT BE AT YT 99 ntgo] oy
58 AR 2N,

By

oR,



Ho



Ho



10. ohe (ol HEA e RS 12 ol AP

(1) 100 ¢#2] Tl 10704 125
DT dupdyzt? - (1 )¢
(2) 100 =] F3o] 10704 16 /= AFH T

o

AsH.

R A dU7R? — ( )Y
@O (1) 1200 (2) 16000 @ (1) 12000 (2) 1600
@ (1) 12000 (2) 16000 @ (1) 120000 (2) 160000

® (1) 12000 (2) 160000



11. 7%= 10000472 77, 1000 ¥4 87, 100 9#2] 571, 10 ¢
A2l 970 dlastasytt. 497t gt =2 B duelA] 5}
Al

e = o
=%

i3



12.

colt okt 9

A 34, A dae] 2%, W A F 50

sttt 2207t A

a5t 2o

| T

B el 784412,



13.

FJol|7} AFE BE =2 Aol By 10000 LA 3%, 1000
A [ A 10098 54 47, 109 A5 A 36 70 95

o}, FJol7t A5 B =] 53060 YU uf, [ [obef dure
A= =
TE FolA L.

e = 3



